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General Intelligence and Reasoning 8. Read the given statements and conclusions carefully.
Assuming that the information given in the statements
Select the option that is related to the fourth number in is true, even if it appears to be at variance with
the same way as the first number is related to the commonly known facts, decide which of the given
second number and fifth number is related to sixth conclusions logically follow(s) from the statements.
number. Statements: All Fig are Tree.
15:210::?:90 :: 20 : 380 All Tree are Red.
(A) 12 (B) 10 No Red is Green.
(C)8 (D) 18 Conclusions: I. No Tree is Green.
Il. No Fig is Green.
Select the option in which the numbers shares the lll. Some Red are Fig.
same relationship in set as that shared by the numbers (A) Only conclusions | and Il follow
in the given set. (NOTE: Operations should be (B) Only conclusions | and Il follow
performed on the whole numbers, without breaking (C) Only conclusions Il and lll follow
down the numbers into its constituent digits. (D) All the conclusions follow
E.g.13 — Operations on 13 such as adding /subtracting
/multiplying etc. to 13 can be performed. Breaking 9. A series is given with one term missing. Select the
down 13 into 1 and 3 and then performing correct alternative from the given ones that will
mathematical operations on 1 and 3 is not allowed). complete the series.
(18, 9, 36) ANM, GWZ, MFM, SOZ, ?
(36, 18, 72) (A) NQR (B) YYM
(A) (46, 33, 132) (B) (24, 12, 36) (C) YXM (D) YXR
(C) (58, 29, 118) (D) (32, 16, 64)
10. Select the figure that will come next in the following
By interchanging the given two signs and numbers figure series.
which of the following equation will not be correct?
'+'and '+, '16' and '4' .O I
.28+2-4x15+16=6 % OO ?
I.4x6-144 + 16 + 36 = 96 —
(A) Both I and II (B) Only I
(C) Neither I nor Il (D) Only |
Four letter-clusters have been given out of which —
three are alike in some manner and one is different. %
Select the letter-cluster that is different.
(A) LNOQ (B) CEFH (A) (B)
(C) YADF (D) VXYA
Which of the following 'mathematical operator' are %H O.
placed in place of 'alphabet' (in the same order) given —
in the equation to make it true? (C) (D)
128a4b16c52d 32¢e 12
(A) =, x,=,x = (B) x,+, =+, - 1. Select the options in which the words share the same
(C)+,x,=-,+ (D) x,+=-,+ relationship as that shared by the given pair of words.
Apple: Bushel
Select the combination of letter that when sequentially (A) Grapes: Grove (B) Colony: Penguin
placed in the blanks of the given series will complete (C) Army: Ant (D) Hair: Lock
the series.
R _CH__RI_HES__C_ES 12. Which answer figure will complete the pattern in the
(A)ILS,C ERILH (B)I,E,S,C,R,ILH question figure?
(C)C,ILE,S,R,I,H (D)E,S,C,R,ILH,C

Answer the following question based on the direction
given below:

If 'A#B' means 'A is the father of B'

'A@B' means 'A is the brother of B’

'A$B' means 'A is the son of B'

'A%B' means 'A is the mother of B’

'A&B' means 'A is the wife of B'

f'D@C#E&F$ G &J, then how is E related to J?
(A) Daughter (B) Son-in-law

(C) Daughter-in-law (D) Niece

e

(A)
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(©) (D)
13. A series is given with one wrong term. Select the
wrong term in the given series.
12,9,9, 225, 78.75, 354.375

(A) 12 (B) 22.5
(C) 78.75 (D)9

14. In a certain code language, 'SANITY' is coded as
'HOTUXZ'. How will 'INERTS' be coded in the same
language?
(A) FIMQRU (B) GKNQRV
(C) FKMRRV (D) KPSVWZ

15. Select the option which is embedded in the given
figure.
(A) (B)
(€) E | (D)

16. Select the option in which the numbers are not related

in the same way as the numbers of the following set.
(576, 625, 676)

(A) (256, 289, 324) (B) (441, 484, 529)

(C) (64, 81, 100) (D) (169, 196, 361)

17. Select the correct mirror image of the given
combination when the mirror is placed at 'PQ' as
shown.

P

m@nEgtd4asSrCw

Q

(A)w31aMgEln@m

| WOUEArt2LCM
(C)w0197153n@m
D)w:)n'ihignE@m
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Select the option that is related to fifth letter- cluster in
the same way as the second - letter cluster is related
to the first letter- cluster and the fourth letter-cluster is
related to the third letter-cluster.

GERM: UWJO :: CLAP: YPAL :: HELP: ?

(A) SVOK (B) TVPL

(C) SVOL (D) TWPL

In the following question, select the related word from
the given alternatives.

WORD: ULMW:: PLAY: ?

(A) NOUB (B) OGVR

(C) MIU (D) NIVR

Which of the following Venn diagram represents the
relationship between Japan, India, Asia?

(A) (B)
MO GINGED

A piece of paper is folded and cut as shown below in
the question figure. How will it appear when unfolded?
F - F W w—— —
1 1 !
I

|
L ) t _)I

| |
- —_— il

Ro] R o8 Ro
g ¥L 0¥ €L

(A) (B)

U¥ 8L gL &
oy BT 30| BT

(©) (D)

In the questions given below there are three
statements followed by three conclusions I, Il and III.
You have to take the three given statements to be true
even if they seem to be at variance from commonly
known facts. Read all the conclusions and then decide
which of the given conclusions logically follows from
the given statements disregarding commonly known
facts.

Statements: All Apples are Grapes

Some Grapes are Oranges

No Grapes are Bananas

Conclusion: I. All Bananas can be Oranges

Il. Some Apples are not Bananas

lll. Some Oranges are not Bananas

(A) Only conclusion IlI follows

(B) Only conclusions Il and Il follow

(C) Only conclusion Il follows

(D) All the conclusions follow

Which of the following words cannot be formed using
the letters of the word only once?

TRUNCATING

Word I: TURNING
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Word II: CARTING

Word lll: GRUNTING

(A) Only word IlI

(B) Only word | and word Il
(C) Only words | and word I
(D) All the three words

What are the minimum lines required to form the
figure?

(A) 14
(C) 12

(B) 11
(D) 13

If120#4 =15,23$42=88,132#6=11and 15 $
21 = 51 then find the value of 196 # 7 and 25 $ 54
respectively.

(A) 14 and 84 (B) 12 and 86

(C) 16 and 94 (D) 14 and 104

Quantitative Aptitude

Two sides of the obtuse angled triangle are 15 cm
and 17 cm. Which of the following options is correct
regarding the third side, which is the longest side of the
given triangle?
(A) 18 <x <32
(C)22<x<32

(B)2<x<32
(D)23 <x <32

The least number 'X' which when divided by 14, 18,
and 36 leaves 1 as the remainder in each case. Find
the value of (2X' + 3)
(A) 253
(C) 509

(B) 521
(D) 269

The line graph shows the number of students enrolled
in a course from 2018 to 2022. Study the following line
graph and answer the question that follows.

Number of students enrolled
in course
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Number of students enrolled in the course in 2020 are
how much percent of number of students enrolled in
the course in 2022.
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(A) 95% (B) 120%
(C) 75% (D) 80%
Find the simplified value of the given expression.
1 24 729 24
(@ 7)) 5
(A) 53/56 (B) 5/6
(C) 1/6 (D) 33/46

The radius of a circle is 6 cm. Find the area (round off
to 2 decimal places) of the sector of the circle that is
subtended by an angle of 60°. (Take 1 = 22/7)

(A) 18.86 cm? (B) 21.12 cm?

(C) 16.56 cm? (D) 14.14 cm?

If 5A72B is divisible by 11, then what is the value of
—A?

(A) 1 (B) 4

()3 (D) 2

Find the simple interest earned on %3,600 for 6
months at 5 paisa per rupee per month?

(A) 1,200 (B) 21,540
(C) 21,080 (D) 1,250

Find the value of (sin 8 + 2sin® 8) + (3cos 6 - 2cos?® 6) ?
(A)tan 8 (B) 1

(C)cos 6 (D)0

If (a + b) = 8 and (a3 + b%) = 152, then find product of
'a"and 'b".
(A) 25
(c) 20

(B) 10
(D) 15

A train having length 330 metres takes 11 seconds to
cross a 660 metres long bridge. How much time will the
train take to cross a 570 metres long bridge?

(A) 8 seconds (B) 12 seconds

(C) 10 seconds (D) 9 seconds

The bar graph given below shows the total number of
employees (male + female) and number of female
employees in 4 different companies. Study the graph
carefully and answer the question given below.

300 3£0
250 ] 270 B
1 e
f}f oo [ 20| ?
w g 1B |7
87 ;z;% % 17
A B C D

OTotal number of employees
B2 Number of female employees

What is the sum of number of male employees in
company 'A' and company 'D'?

(A) 280 (B) 350

(C) 260 (D) 300
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The value of (1 + cot A-cosec A)(1 +tan A +sec A) - 1
(A) -1 (B) 2
(€0 (D)1

A seller marked the price of an item 60% above its
cost price and sells it by offering a discount of 10% on
the marked price. He further offers an additional

discount of%% for paying it all by cash. If the cost

price of the item is 24,000, and the buyer paid through
cash, then find the percentage of profit earned by the
seller.

(A) 20%
(C) 39%

(B) 30%
(D) 28%

The time taken by 'X' and 'Y' together to complete a
work is 16 days. If X' is three times as efficient as "Y',
then find the time taken by X' alone to complete the
same work.

(A) 33 ; days

(C) 21 % days

(B) 25 g days
(D) 312 days

The table given below shows total number of bulbs of
2 different types (CFL and LED) sold by 4 different
sellers and percentage of number of LED bulbs sold by
each seller out of total number of bulbs sold by him.
Read the table carefully and answer the question that
follows.

Sellers | Total number | Percentage of number of
of bulbs sold | LED bulbs sold

A 1452 60%
B 2545 54%
C 2600 42%
D 1865 40%

Number of LED bulbs sold by seller 'C' is how much
more/less than number of CFL bulbs sold by seller 'D'?
(A) 89 (B) 46
(C) 27 (D) 62

If (8a3+ 27b3 + 64c®) = 72abc, then the relation among
'a’, 'b'and 'c'is:
(A)2a-3b+4c=0
(C)2a +3b=4c

(B) 2a + 3b = - 4¢
(D)3b-4c=2a

Mixture 'A' contains chocolate and milk in the ratio of
5:4, respectively and mixture 'B' contains chocolate
and milk in the ratio of 7:2, respectively. 'A' and 'B' are
taken in the ratio of 5:6, respectively and mixed to form
a new mixture. The percentage of chocolate in the new
mixture is closest to:
(A) 46%

(C) 53%

(B) 68%
(D) 72%

A dishonest seller sold the rice at cost price but
weighs 780 grams instead of 936 grams. Find his profit

percentage?
(A) 20% (B) 25%
(C) 40% (D) 16.67%

%6,000 when invested for 5 years yield simple interest
of 1,200. Find the rate at which the sum was invested.
(A) 6% p.a. (B) 5% p.a.
(C) 4% p.a. (D) 8% p.a.
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In a 1,200 metres race between 'A' and 'B', 'A' gives a
head start of 48 metres to 'B' and they both finish the
race at the same time. If the speed of 'B' is 6 m/s, then
find the speed of 'A'.
(A) 8 m/s
(C)6 m/s

(B) 7.5 m/s
(D) 6.25 m/s

The dimensions of the parallel sides of a trapezium
are 15 cm and 19 cm. The area of the trapezium is 136
cm?. If the height of the trapezium is equal to the side
of a cube, then find the lateral surface area of the cube.
(A) 140 cm? (B) 152 cm?
(C) 324 cm? (D) 256 cm?

'A' can complete a work in 20 days, and 'A" and 'C'
together takes 12 days to complete the work. 'B'is 1.5
times as efficient as 'C'. 'A" and 'B' starts the work and
work for a few days after which 'A’ is replaced by 'C'
and the work got completed in 6 more days. Find the
number of days for which 'A' has worked.

(A) 5 days (B) 12 days

(C) 6 days (D) 8 days

In the given figure find the value of 'x'

c
(A) 10 (B) 8

(C)12 (D) 16

The value of (sin*60°+ cos*45°) + (tan*45°+ cot*45°) is:
(A) 5/3 (B) 45/16

(C) 30/17 (D) 3/2

The batting average for 35 innings of a cricket player
is 42 runs. His highest score in an innings exceeds his
lowest score by 162 runs. If these two innings are
excluded, the average score of the remaining 33
innings is 38 runs. Find his highest score in these

innings.
(A) 195 (B) 208
(C)178 (D) 189

General Awareness

Mollem National Park is located in which state?
(A) Kerala (B) Andhra Pradesh
(C) Goa (D) Tamil Nadu

In the human body, which one of the following
hormones regulates blood calcium and phosphate?
(A) Parathyroid hormone (B) Glucagon

(C) Thyroxine (D) Growth hormone

Who was the only female Muslim ruler of Delhi?
(A) Bibi Amtus Salam (B) Razia Sultana
(C) Abadi Bano (D) Begum Hazrat Mahal
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The Ideals of Liberty, Equality, and Fraternity
(contained in the Preamble of the Indian constitution)
are borrowed from which country?

(A) France (B) Britain

(C) Ireland (D) Canada

What do you understand by money laundering?

(A) The act of using credit cards for everyday
purchases

(B) The process of making illegal money appear clean
and legitimate

(C) The act of transferring funds from one bank
account to another

(D) The process of reporting all financial transactions
to the authorities

'Skyu' is a delicacy of which of the following
states'/UTs' cuisine?
(A) Ladakh

(C) Pondicherry

(B) West Bengal
(D) Goa

Which one of the following groups of states borders
the state of Telangana?

(A) Chhattisgarh, Karnataka, Maharashtra, M.P

(B) Andhra Pradesh, Karnataka, Maharashtra,
Chhattisgarh

(C) Chhattisgarh, Karnataka, Maharashtra, M.P.

(D) Karnataka, Maharashtra, M.P., Andhra Pradesh.

Which of the following is not the "Tri Ratna" of Jainism?
(A) Right faith (B) Right view
(C) Right conduct (D) Right knowledge

Name the small pores found on the surfaces of plant
leaves, stems that allow for gas exchange between the
plant and its environment.
(A) Pits

(C) Trichomes

(B) Stomata
(D) Hydathodes

The term Biological diversity was first time used by
Raymond F. Dasmann in 1968 in his book titled

(A) The Diversity of Life

(B) A Different kind of Country
(C) The Diversity of Life on Earth
(D) None of the above

Which of the following provisions was added by the
934 Amendment Act of 20057

(A) Special provision for women and children

(B) Provision for the advancement of any socially and
educationally backward classes of citizens.

(C) Right to elementary education

(D) Freedom to manage religious affairs

Which among the following is the nodal ministry for
the implementation of 'Mission LiFE'?

(A) Ministry of Jal Shakti

(B) Ministry of Housing & Urban Affairs

(C) Ministry of Environment, Forest and Climate
Change

(D) Ministry of Earth Sciences

Who patronized the Persian artist Bihzad?
(A) Balban (B) Shah Jahan
(C) Humayun (D) Jahangir
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Which five-year plan focussed on agriculture &
enhancement in the production of wheat?

(A) Second (B) Sixth

(C) Ninth (D) Third

Which of the following statements is INCORRECT
about "Propane"?

(A) It is lighter than air.

(B) LPG is mainly composed of propane.

(C) The chemical formula of propane is C3Hs.

(D) It is obtained during crude oil refining.

Demand pull-inflation cannot be caused by which of
the following?

(A) Higher purchasing power

(B) Rising interest rates

(C) Expansionary policies

(D) None of the above

Hatti Habba is a bull-taming rural sport. This sport is
played in which state?
(A) Mizoram

(C) Maharashtra

(B) Karnataka
(D) Odisha

Banawali is an archaeological site belonging to Indus
Valley Civilization and is situated on the left side of
which of the following ancient Indian rivers?

(A) Vitastata (B) Askini

(C) Sarasvati (D) Purushni

Which of the following rivers is called a 'biological
desert' on account of its pollutants?

(A) Mahanadi (B) Yamuna

(C) Periyar (D) Damodar

Which one of the following statements is NOT correct?
(A) India's largest Buddhist monastery is in Arunachal
Pradesh

(B) The Hoyseleswara temple is dedicated to Shiva
(C) The statue of Gomateshwara at Sravanabelagola
represents the last Tirthankara of Jains

(D) The Khajuraho temples were built under Chandela
Kings

Which among the below-mentioned option states the
financial accounting time of the Reserve Bank of India?
(A) April - March (B) July -June

(C) January - December (D) September - August

Damodar Mauzo has been awarded the 57™ Jnanpith
Award. He is a native of which state?

(A) Telangana (B) Kerala

(C) Goa (D) Rajasthan

Who has been awarded the ‘PEN Pinter Prize 2024'?
(A) Vikram Seth (B) Neelam Saxena
(C) Vikram Singh (D) Arundhati Roy

Recently, where was the first ‘International Dairy
Federation Asia-Pacific Summit’ held?

(A) Varanasi, Uttar Pradesh

(B) Indore, Madhya Pradesh

(C) Kochi, Kerala

(D) Kolkata, West Bengal
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The aim of 'Pradhan Mantri Suryodaya Yojana' (PSY)

is to install solar rooftop system on (crore)
houses.

(A) One (B) Two

(C) Three (D) Four

English Language

Select the word which means the same as the group of
words given.

To give one's authority to another person

(A) relegate (B) denigrate

(C) delegate (D) amalgamate

Select the most appropriate option to fill in the blanks.
As lions are to pride, so are wolves to

(A) pack (B) herd

(C) school (D) flock

In the given sentence, a blank is given indicating that
something is missing. From the given four options,
choose the one that provides the correct word to be
filled in the blank, thereby making the sentence
grammatically and contextually correct.

Despite the dangers, some parents actively
their children to take part in the street

clashes.

(A) encourage (B) despise

(C) summon (D) retain

Select the INCORRECTLY spelt word.
(A) Accommodate (B) Bureaucracy
(C) Embarrassment (D) Occasion

In the sentence, identify the segment which contains
the grammatical error.

(A) The city has grew so large

(B) that piped water from

(C) distant rivers can no longer

(D) supply all its needs.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

My brother / has / already ate / his lunch.

(A) his lunch (B) My brother

(C) has (D) already ate

In the following question, out of the four alternatives,
choose the one which can be substituted for the given
words/sentence.

One who eats too much
(A) glutton

(C) novice

(B) altruist
(D) eccentric

In the question given below, rearrange the fragments
in the correct order, and choose the correct option.

P. However, many people struggle with finding the right
balance.

Q. Achieving work-life balance is often considered
essential for overall well-being.

R. The demands of work and personal life can create
challenges.

S. It requires managing responsibilities at work and
personal life effectively.
(A) RPSQ

(C) PSQR

(B) QSPR
(D) SRQP
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In the following question, a sentence is given with a
phrase or idiom in brackets. Select the option given
below that can replace the bracketed phrase.

He had to (fall off from) savings to support his family
after he lost his job.
(A) fall out with

(C) fall in with

(B) fall back on
(D) No improvement

In the following question, a sentence is given with a
phrase or idiom in brackets. Select the option given
below that can replace the bracketed phrase.

The judge asked the witness to (come after).

(A) come back (B) come forth

(C) come across (D) No improvement

Directions [86-90]: In the following passage, some of the words
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have been left out and replaced by a blank. First, read
the passage and try to understand what it is about.
Then fill in the blanks as per the questions given.

Animal byproducts (such as lungs, hearts, livers or
kidneys) are ___ (A)__ used in pet food due to their
__(B)_ cost and ability to provide appropriate
nutrition. Poultry byproducts, for instance, have been
identified as the largest ingredient in both dry and wet
commercial pet food diets. How the environmental
__(C)__ of these byproducts is accounted for is
therefore crucial. But published research on the
environmental impact of pet food is __ (D)___. And
even then, some of these studies have produced
questionable ___ (E)___.

Find the correct word in case (A).

(A) quick (B) often
(C) politely (D) meanly
Find the correct word in case (B).

(A) easy (B) low
(C) silly (D) savage
Find the correct word in case (C).

(A) deceit (B) yield
(C) impact (D) quarrel

Find the correct word in case (D).
(A) limited (B) ceased
(C) prolonged (D) assisted

Find the correct word in case (E).
(A) flaws (B) results
(C) brisk (D) remarks

In the following question, a sentence has been given in
Direct/ Indirect speech. Out of the four alternatives
suggested, select the one which best expresses the
same sentence in Direct/ Indirect speech.

"l expect them here by Tuesday," said the duke.

(A) The duke said that | expected them here by
Tuesday.

(B) The duke said that he expected them there by
Tuesday.

(C) The duke said that he expected them here by
Tuesday.

(D) The duke said that he expects them there by
Tuesday.
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92. In the following question, a sentence has been given in (C) advanced (D) humble
Direct/ Indirect speech. Out of the four alternatives
suggested, select the one which best expresses the 96. Select the most appropriate meaning of the given
same sentence in Direct/ Indirect speech. idiom.
She said excitedly, "l can't wait to see the new movie!" Hit the nail on the head
(A) She exclaimed that she couldn't wait to see the new (A) Miss the target
movie. (B) Strike someone with a hammer
(B) She said excitedly that she can't wait to see the (C) Make a correct assessment or guess
new movie. (D) Make a loud noise
(C) She said excitedly that she couldn't wait to see the
new movie. 97. In the question below, an idiom is given, followed by
(D) She excitedly said that she couldn't wait to see the four options. Select the option that gives the correct
new movie. meaning of the idiom.
An ankle biter
93. In the following question, a sentence has been given in (A) a small child
Active/ Passive Voice. Out of the four alternatives (B) an annoying person
suggested, select the one which best expresses the (C) a foolish person
same sentence in Passive/ Active Voice. (D) a person who easily gets angry
The old building was demolished by the construction
crew last week. 98. Select the most appropriate synonym of the given
(A) The construction crew demolished the old building word.
last week. PROFICIENT
(B) The construction crew will demolish the old building (A) frigid (B) upset
next week. (C) adept (D) dense
(C) The construction crew is demolishing the old
building this week. 99. Select the most appropriate  ANTONYM of the
(D) The construction crew demolishes the old building underlined word.
every week. The tumultuous storm wreaked havoc on the coastal
town, causing widespread destruction and chaos.
94. In the following question, choose the word opposite in (A) Tranquil (B) Futile
meaning to the given word. (C) Disorderly (D) Fragile
RIGID
(A) inevitable (B) precise 100. Select the option that expresses the given sentence in
(C) complacent (D) flexible passive voice.
She paints the walls every year.
95. Select the most appropriate synonym for the (A) The walls are painted by her every year.

highlighted word.
The company's cutting-edge products set new
industry standards.

(A) obsolete (B) ancient

(B) The walls were paint by her every year.
(C) The walls were painting by her every year.
(D) The walls were painted by she every year.
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